Best model for HELP J161710.817+552812.894 at z = 0.772 x2=2.13
OPTx2=2.63 IRY?=1.9 threshold (OPT IR)=14.17 [um]

102 Stellar attenuated
= e Stellar unattenuated
—— Dust emission
. m —— AGN emission
101 = Model spectrum
. [] ® Model fluxes
M oObserved fluxes
—_ 0
= 10
=
S
% 1071 :
- -.vr”-‘”'ﬁw’ :
2 “’k""“.’“‘""ﬁw«.“h .
10~ :
N
1073
X
>
Al |
= ] ==f=(Obs-Mod)/Obs
> 1 L
©
)
] o . T P P N Ly I R e N e e L L L .
o ]
) ]
2 ]
S ]
f_U _1 T CIGAL
()
(o'

10° 10! 107 103 10 A
Observed wavelength [um]



